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= 4 g (mm)  |E S (mm) B @S (mm) ffE (nd)

O |HBR= 2, 080 1,015 2 4, 222, 400 4. 222

QI =T 4T N—A 2, 080 1,015 | 2 4,222, 400 4. 222

@ |y h—=: 1, 830 1,915 1 3, 504, 450 3. 504

@ |a v h—= 1,830 1,015 | 1 1, 857, 450 1. 857

® |/h&iE= 1,215 1, 520 2 3, 693, 600 3. 694

©® | e FHFER = 1,215 1,520 | 2 3, 693, 600 3. 694

@ | B rFERE = 1,215 1,520 4 7, 387, 200 7. 387
E= 2, 080 1,015 2 4,222, 400 4. 222

O |28=E 2, 080 1,015 2 4,222, 400 4. 222

[S% B 1, 800 1, 505 2 5, 418, 000 5. 418
@ | AT AR 1, 580 1,015 2 3, 207, 400 3.207
@ |ETEf AR 1, 680 1,015 2 3, 410, 400 3.410

O | &S A 1,718 1,015 | 2 3, 487, 540 3. 488
AP 1, 600 1,015 [ 3 4,872, 000 4. 872

© |fefEE R 1, 858 1,015 3 5,657, 610 5. 658

T FEHE R 2, 080 1,015 3 6, 333, 600 6. 334

@ | K== 1,815 1,520 | 4 | 11,035,200 11.035
AR S AR 1, 858 1,015 2 3, 771, 740 3.772
RS R 2, 080 1,015 [ 3 6, 333, 600 6. 334

2 AR R A AR 1, 980 1,015 | 2 4,019, 400 4.019
BE | @ | Bpip A 2, 320 1,516 1 3,517,120 3.517
& Ft 98. 090




